. package jp. ict.aso. model;
import java. io.Serializable;
public class JyankenBean implements Serializable]
private int player, computer, hantei;
private String hanteiStr;
public JyankerBean() |{
public void jyanken() {
computer = new java.util.Random().nextInt(3);
hantei = (player—-computer+3) % 3;
if(hantei == 0) {
| hanteiStr="&HL 2 ";
if(hantei == 1) {
| hanteiStr="&I(+";
if(hantei == 2) {
] hanteiStr="f5";
b
public int getPlayer () {
return player;
public void setPlayer (int player) {
this. player = player;
public int getComputer () |
] return computer;
public int getHantei () {
| return hantei;
public String getHanteiStr( |
return hanteiStr;
}



